V Axial piston pump é(:fi?

V Axial piston pump

1.V Series pump,new design for changeable angle of swash
plate,wide applications.

2.Special design,low noise level during full pressure time.
3.Modular control,easy to design system,adventages
are:power saving,small size,low cost.

4.Low power comsuming,low oil temperature rising,suitable
application for assembling small power units.

dwnd uoysid [eixy A ﬂ

nominal pressure: 175 bar
max. pressure: 280 bar
L] single operation period:250bar /6ms
315bar/2.5ms

Specifications
Displacement at (7 bar) 100 PSI Pressure Adj. Speed Weight
Size | Model | o |5 | 1500 RPM 1800 RPM kgflom? Max. | Min. KG
LPM Us.GPM| LPM US.GPM RPM | RPM (LB)
| V8 | 80 048 | 120 3.7 | 144 38 | | 13(286)
| V10 | 100 061 | 150 390 | 180 4.76 13 (28.6)
= 4 i 4 4 k
1 vi2 | 120 073 180 476 | 216 573 13 (28.6)
. | | | S .
Vi5 | 150 090 | 225 578 27.0 7.05 1:8~70 13 (28.6)
= = ! 2: 15~140 r
Vi8 | 178 109 | 267 7.05 | 320 845 13 (28.6)
3:20~210 | 1800 | 500 |
V23 | 230 140 | 354 9.11 414 10,94 22 (48.4)
2 | | 4:20~250 .
V25 | 250 152 | 375 966 | 450 11.60 22 (48.4)
4 | V38 978 231 | 567 1498 680 1796 26 (57.2)
V42 | 420 256 630 1623 | 760 1958 26 (57.2)
‘ V50 \ 515 314 | 772 2037 | 927 24.48 1: 8~70 56 (123.2)
4 , - - . 2:15~140 ——
| V70 | 69.7 425 1045 276 | 1254 3310 3:50-210 56 (123.2)

1.Install outlet on top,the pipe pressure needs less than 2bar.

2.Using at max.pressure,please undre 6 sec for per-cycle time.

3.Hydraulic oil clean,please following YEOSHE instruction maunal.

4 YEOSHE supply combinable pumps with different series,standard with Metric / SAE size.

www.yeoshehydraulic.com X



Type code for standard program @:S?

(v slafalr]l [ B | [ [ [ | |
A 1 2 3 4 5 6 7 8 9 10 1 12 13 14

Series  Size and Control  Pressure Rotation Direction of Shaft type Voltage Threads Thudive& Special Mounting Seals Design No.

displacement device  adjusting pipe 1_ type 2ndpump  spec,
connechions

Series

2
cm’/ rev 8 10 12 15 18 23.0 25.0 37.8 42.0 51.5 69.7

Displacement
P InYrev 048 061 073 090 1.1 140 152 231 256 3.14 4.25

<

> Amgl p'Stqn pHmg . nominal pressure:175 bar max. pressure:280 bar

pod 1 variable displacement high inal i iod: 250bar / 6ms.315bar/2.5 V
o pressure version single operation period: ar/ éms, ar/2.5ms

B,

'_({)h Size and displacement

g Code SHEONECMECHNEIGE 23 25 FESSWE428 50 70
- Size 1 2 3 4
3

©

Control device
Standard pressure control A %

Remote pressure control G
Pressure
‘Al Low : 7KG
Load-sensing control B Mid : 14KG HLL]
[C] High : 21KG
Muti-stage flow & Singe-stage pressure control (with cylinder) B
2-stage pressure & Flow control C
2-stage pressure & Flow control + Remote CG
2-stage pressure & Flow control + Low tension unloading CR
Low tension unloading + Pressure control D
3 Low tension unloading + Pressure control + Remote DG
Electric 2-stage pressure control E
Electric 2-stage pressure control + Remote EG
Electric 2-stage pressure control & Flow control F
Electric 2-stage pressure control & Flow control + Remote FG
Remote pressure compensator with NG6 interface GM
Remote pressure compensator + Proportional pressure valve GJ
Remote pressure compensator + Electrical unloading GR
Remote pressure compensator + 2-stage pressure control GB
Remote pressure compensator + Electrical unloading + 2-stage pressure control GC
Load-sensing compensator + Proportional flow valve + Relief valve HQ
Load-sensing compensator + Proportional pressure valve + Proportional flow valve HK
m = available - = onrequest i = standard type /. = custom made

www .yeoshehydraulic.com



Type code for standard program YELOSHE

v]oslafalrl [ B | [ [ [ | |
1 2 3 4 5 6 7 8 9 10 1"

Series  Size and Control  Pressure Rolation Di

rection of Shaft type Voltage Threads Thrudrive& Special Mounting Seals Design No.

displacement device  adjusting pipe
connections

Pressure adjusting

8~70bar  (0.8~6.9 Mpa)
15~140 bar (1.5~13.7 Mpa)
20~210 bar (2.0~20.6 Mpa)
20~250 bar (2.0~24.5 Mpa )

Rotation
D Clockwise
(. Counter clockwise

Direction of pipe connections

None: Side port (Flange)
6 Rear port (Flange)

Side port + Rear port (Flange) s

Shaft type
Displacement
None Key:

12 13 14

type 2ndpump  spec,

B W N

)

dwnd uosid [eixy A ﬂ

L0 200 L5 INTEA 238 250 N3N R4 0N W70

Code

V15,vV18 Splind shaft: S 13T 16/32 DP  S1 9T 16/32 DP S2 11T 16/32 DP

V23,V25
V38,v42

Splind shaft: S 13T 16/32DP  S1 15T 16/32 DP  S3 13T 16/32 DP longer

V50,V70 Splind shaft: S 14T 12/24 DP  S1 17T 12/24 DP

Voltage
None
AC100V (50/60HZ)
AC110V (60HZ)

8 AC200V (50/60HZ)
AC220V (60HZ)
DC 12V
DC 24V

® = available - = onrequest

# = standard type

MmO O m >

2 = custom made

Copyright@2015-YEOSHE-ALL RIGHT RESERVED




Type code for standard program @{:S?’

1 2 3 4 8 6 if: 8 9 10 1 12 13 14
Series  Size and Control  Pressure Rotation Direction of Shaft type Voltage Threads Thrudive& Special Mounting Seals Design No.

displacement device  adjusting gz‘emﬁms type 2ndpump  gpec,
Threads
PT (RC) = = = = = ® ®m | = =®m = = 10| |x%
BSPP (G) u [ a [ o = = o [ E = 40 %
UNF (SAE o-ring) S T T O T T O T TN T 60
Metric . . 1 . : N : . 70

Thre drive & 2nd pump
without thru drive

dwnd uojsid |eixy A u

@50.8 mm SAE AA C
@ 82.55mm SAE A D
@101.6 mm SAEB E
10 @127 mm F
@ 63 mm |
@ 80 mm J
@100 mm K
@125 mm L

(Plesae contact YEOSHE,if other size required.)
Special specification

Standard type X |
11 Low Pressure type X1
Deahead pressure relief type 74
Mounting
1» Onlyfor V15, V18 can select "A", None : Standard P
other displacement only select "None:Standard" SAE A 2 bolt A
Seals
NBR
13 X
VITON A
m = available - = onrequest % = standardtype / = custom made

www .yeoshehydraulic.com




Control type

4

YEOSHE

Controls

Atype:
Standard pressure
control

Characteristic

Specifications

1.When system pressure increase and reach
present pressure the flow decrease automatically
and pressure to be constant.

2.Pressure and flow can be adjusted manually.

G type:
Remote pressure
control

0 —»

1.The same function of “A”control type.
2.Pressure can be adjusted remotely by the remote
control valve.

HL type: jrmmemmnras . 1.HL valve with 2 different pressure,control displace-
Load-sensing 5 i ot -
|-5- e ] 2.The flow can be changed by HL valve,the sensing
control pon feedback can reach low oil temperature and energy
: saving.
B type: 1.Flow can be adjusted from 0 to maximum and

Muti-stage flow

ouT

pressure can be maintaining at preset pressure.
2.Absorbing impact and vibration which are

& Singe-stage Q produced by up down motions .
pressure control It is suitable for lifting equipment etc.
(with cylinder)
p—>
C type: 4 QH gf-stage pressure to adjust PL to QH and : PH to
Zistage pressure. | - L B | -‘ lL L __ 2.When pressure increase and reach preset
& Flow control et | |9 | pressure“PH" flow is reduced to"QL".
‘ I 3.Adapt for long dead head and short pressurizing
| ' machines,speedy and energy saving.
rlnr. pn | 4-Pressure "PH"'PL",and flow "QH""QL"can be
P—> adjusted optionally.
CG type: ‘ e ‘ ?H 1.The same function of “C” control type.
2-stage pressure :%?f__ | il 2.The pressure and the range can be adjusted by
e Q | remote control valve.
& Flow control (LA _;‘. ; 3.Install YEOSHE solenoid control valve to reach
+ Remote ‘ | Do/l i | “|™ | good performance.
|
i : L ik PL PH
= =i P—>

dwnd uosid [eixy A ﬂ

Copyright@2015-YEOSHE-ALL RIGHT RESERVED



Control type

Controls

Characteristic

Specifications

CR type:
2-stage pressure
& Flow control

+ Low tension

1.Insall YEOSHE solenoid valve,control 2-stage
pressure.

2.It is suitable for constant speed lifting
equipments,and setting 2-stage working pressure.
3.PL and PH,two opptions can be PH.

dwnd uojsid |eixy A u

£ er —Ti
unloadlng e SOL OFF: Low tension unloading
SOL OFF: 2-stage pressure&flow
D type: 1 ,nge as type A and with low tensiqn unloading.
Low tension 2.1t is adapt for long unioad!ng operation. _
) “oiore soion 3.When the system stops,oil temperature and noise
unloading maintain low level while being through the

+ Pressure control

unloading.

DG type: 1.The same function of “D" control type.
* 2.The pressure and the range can be adjusted by
Low tenS’On ! remote control valve.
unloading | soLoFF 3.Install YEOSHE solenoid control valve to reach
+ Pressure control ! | [ 9900 PeriarTace.
+ Remote '!
J PH
E type: 1 1.2-stage pressure is controlled by solenoid control
. valve.
Electric Z'Stage o)l A 2.Adapt for constant speed lifting equipments, and
pressure control setting 2-stage working pressure.
3.PL and PH,two options can be PH.
PL PH
P ——e
EG type: T 1.The same function of “E"control type.
: 2.The pressure and the range can be adjusted by
Electric Z_Stage Ql ssisie remote control vavle.
pressure control 3.Install YEOSHE solenoid control valve to reach
+ Remote <« |- | good performance.
PL PH
pP—
F type : QuiSOLOFF 1.Electric 2-stage pressure & flow control to adjust
: PL to QH,PH to QL.
Electric Z_Stage aL 2.Pressure “PL", “PH" and flow "“QH" can be
pressure control adjusted optionally.
& Flow control
PL PH

www yeoshehydraulic.com




Control type

4

YEOSHE

Controls Symbol Characteristic Specifications
FG type: & l‘;ﬁec{t}rﬁﬁ ’%jtiag(e) Eressure & flow control to adjust
1 ¥ il (o] y (o] E
Elactic 2_Stage ‘ SOLOFF 2 Pressure can be adjustd by remote control valve.
pressure control = | i 3.Pressure “PL”, “PH" and flow “QH” can be
& Flow control ::_ ‘ g SRLON adjusted optionally.
+ Remote 1!331 o — == «|>
B —= PL PH
: I—— Y p—
b el ] 1]
GM type i ‘ItG? Remote pressure compensator with NG6
interface.
Remote pressu!'e ’f‘ 2.Speedy reactions,stable pressure supply.
compensator with Q 3.Adapt for manual or electric control.
NG6 interface i
i =

GJ type:

Remote pressure

compensator

+ Proportional
pressure valve

1.Same as type "GM” and with proportional
pressure valve.

2.The proportional valve is installed on the NG6
interface to reach proportional electric control to
save energy.

= . e
Remote pressure L function. P PP
compensator i 2.GR control is for long unloading situations.
+ Electrical When the system stops, oil temperature and noise

unloading maintain low level while being through the

unloading.
3= inchuded

GB type: 02283 1.?3( additr;'g a relief val\:e andksolenoid c;]antroib "
Remote pressure - ] ;rl?n\;z:: e compensator makes pump have bol
compensator F f “gg:;” SOCI)\JL' 2.GB control is for Z-stage working pressure under
+ 2—stag e pressure le Q the constant cylinder speed.

control I 1

J_ el % BE .

Select PL or PH to be high pressure

dwnd uosid [eixy A ﬂ

Copyright@2015-YEOSHE-ALL RIGHT RESERVED



dwnd uojsid |eixy A u

Control type

Controls Symbol Characteristic Specifications
- 1.Control two different-stage limited pressure by
type:
adding solenoid valve and unloading function.
Remote pressure 2.When the system stops,oil temperature and noise
compensator maintain low level by unloading function.
+ Electrical 3.Adapt for stable cylinder speed,2-stage
unloading = pressure,and long unloading situation.
P.! h.
+ 2-stage pressure |
Con‘trol Select PL or PH to be high pressure
0= Inchudod
HQ type: = 1.HQ control with load-sensing and proportional
L d}’p ; I_M'l'ﬂ'tﬁé J2 T flow control.
0ad-sensing W [ ol 2.By electric input singnal to adjust pump displace-
compensator - ment,and the flow is controlled by electric modular
+ Proportional s _— control.
flow valve ~ .
+ Relief valve i e [F=s
1.HK offers the smallest pressure and flow
HK type: according to different requirement.
Load-sensin 2.The displacement is nearly zero when the system
cgmpensatog 4 “ stands by,and the motor output is also nearly zero
al

..- to saving energy.
3.When the system reaches setting pressure,the
pump displacement will reduce by itself.
== It only needs to add the system required flow,and
the pressure remains the same which control the oil
P—> temperature.
4.Compared with vane pump,gear pump+PQ valve

can save 30-50% energy.

+ Proportional
pressure valve

+ Proportional
flow valve

www yeoshehydraulic.com



4

YEOSHE

Dimension
V15A, V18A Standard pressure control .
INC.
Ficw aiiisiiisit 196.8 44.5 Pressure adjustment
48 [14.76:3%x32
Drain Port: G 3/8" 18 ol » 44 Filling port <
= -
DEC. 6 21°9) 01 2-M12xP1.75
gl @ i - >
é[l § N © 9 x.
e_ ,—ﬂ i 1 [ =1 3 ?S 2 QJ
N —L °g = o H:E:' —_
7 i I [+ NG ' =
“Lpre g @H" % O,
((=]
" 4-M8x20 —/ | | o 8‘
13 =
o 2y, — 1056 =
131
L _Outlet @25 165 _inlet 225 T3
o
_ ©
V15A, V18A Standard pressure control (SAE A 2 bolt) Please following order code no.12
MesI OO OO0 —O0O0O0[A]
INC.
Flow adjustment 1968 445 Pressure adjustment
48 +0.025
. ; J 14.76:3"°x32
Drain Port: G 3/ 18 9 o Filling port
DEC. [ 176 | /os|es
5 T wl v ] =
=
éf T g 39 9
< =i 1 ( T 5 o 2 +;_t >
] B o T S 2 B9 © h
= ‘ w
7 4 o \Jl o
H w
" 4-M8x20 —/l | T
e 35,1 13
@25 t 147 : 1?:;6
= Outet25 165 Inlet 925
V15G, V18G Remote pressure control
Remote pressure port: PT 1/4
MMN&\ Pressure adjustment
L 196.8 44 5 (Warning: don't adjust)
DEC. Flow adjustment 96.5
48 ——14.76 '57%32
- © — Filling Port
8 | [5.2 ao11] -
6 7|29 2-M12xP1.75
ol © \ ey
s ai| =
@« 7] [1s] ©) t()_
3 8 =k L & 7 5
og b3
ol g
| . e 5
& | HE—F .
;)LEI::I 1 S | @
4-M8x20 |
q 00
¢ 25— _§§J.1M7 13 7056
131
173 7 Inlet @2
Outlet 25 165 @25

Copyright@2015-YEOSHE-ALL RIGHT RESERVED



A
<
>
x
QO
=
L4
o
=
=
=
3

©

Dimension

DEC.

V15HL, V18HL Load-sensing control

Drain port : G 3/8"
[

196.8

Flow adjustment

206

]

R
__@+_

3

4-M8x29—/ }!{ﬂ:i 114? —L

173

Low pressure

adjustment
/ High pressure
44.5 44 adjustment
= 04.76:5%x32 4
18 g » 4-911]
6 mc'c’c.‘ ) 2-M12xP1.75
0
bt r
ol
- & &
i B Sl S 2
_L b
—
p o
1 \ ©
1
13 090 |
105.6
Outlet 25 131 \_Inlet@25
— 164.6

V15B, V18B Multi-stage flow & Single-stage pressure

control (with cylinder)

INC.

(Remark : Install with A type control)

L 374 44.5 Pressure adjustment
48 ——14.7614"x32
RC1a  Drain port: G 3/8" 18 8 e —44—1 Filing port
B |fesled 2-M12xP1.75
wl uwy P
nul =] =
(=] I
%T A 7T T2 vg >
[ .Q.. oo G
0 = ?
@25 f Lq: I 8 8
4-M8x20 | EJIQEJ
351 13
147 == 1056
131
173 Outlet @25 165 \___Inlet @25
V15C, V18C 2-stage pressure & Flow control
Low flow adjustment | 270 44,5 2-M12xP1.75 e
DEC.  High flow adjustment Drain port: G 3/8" 48 Filling port Low pressure adj.
[14.76:4"°x32 \ . .
g 0 High pressure adj.
oolos =
w| v 4-@11 &
o = —F
2 & -
) i @ s ) e
N z b ool 2
5 fic = 3) * =
a1 = -3 =F
s— &
225 GE{E =
4-M8x20 —/| T
190
105,6
131
Outlet @ 25 165 Inlet #2565

www yeoshehydraulic.com




4

YEOSHE

Dimension
V15CG, V18CG 2-stage pressure & Flow control + Remote

Filling port A
O Low flow adjustment 270 Remote pressure port: PT 1:’4
DEC. s z 44,5
High flow adjustment Drain port:G 3/8"
- 48 .
) [14.76%5"%32
ﬁ h !85 18 /_ N 0 \ ’ﬁ}YLn <
o uy
| =1 4-811
2 b 2-M12xP175 %
mn =]
$ o) o | | g & {':l— Bl ‘(_9_' —
S ] ) Nz o Q
© © T i 14 So D
Kol ol elis o
7 —
b 4 + [=] (ﬂ
© ‘__.@/ ;325 / I ® —
| a-mex20— | ! ‘ , O
| 35.1 13 190 =3
131 ! 147 " 1 :):?16 -5
185 Outlet @25 155 Inlet @25 c
o

V15CR, V18CR 2-stage pressure & Flow control + Low tension unloading

O Low flow adjustment

DEC. High flow adjustment

Low pressure adj.

270 44,5 I
Filling port High pressure adj.

Drain port: G 3/8" \
o 48
- +0.025 -
o 18| - ;4.?6'0 x32 [i(—l o
6 = - T
oolod 4-@11 -M12xP1.75
: 'FE DN P e
© © o < - ©
L3t
QsZoe) ' %o
IE < =
o + ol
ol
© g2s—| / | g
! 4-M8x20 —/| | T
131 I 180
105 6
Solenoid control valves Outlet @25 131 Inlet @25
OFF:Low tension unloading —_—t 165

ON:2-stage pressure & flow control

V15D, V18D Low tension unloading + Pressure control

2-M12xP1.75

Low pressure adj.

O High flow adjustment 276

DEC e
Solenocid control valves Drain port: G 3/8" Filling port High pressure adj.
04.76:°x32 \ O
8 o INC
S| 4 - #
O oed 4o 3
gel 2 —t
@ —
-—\‘E s = o o
-t ~ Qo| =
= T
oy T ]
g |
@25 — 8
4-M8x20 —/| =t \
| 35,1 |13 090
I 147 105.6
131
185 Outlet @25 | Inlet @25
185

Copyright@2015-YEOSHE-ALL RIGHT RESERVED




Dimension

V15DG, V18DG Low tension unloading + Pressure control + Remote

()

High flow adjustment

Remote pressure port: PT 1/4

High pressure adj.

www .yeoshehydraulic.com

DEC. Solenoid control valves 276 : J
< _\ Drain port : G 3/8" (Warning:don/t adj.)
9l 4¥0 44,5 -
[ reme | O 9 48 04.76:3%x32
> 5 _€ o 18 gl w A
Lo 4-em
x. - g 2Pl T nﬂ 2-M12xP1.75
m fensel <| — '.' — 1
— 5 o [ [~ S~ Do - ©
= - |e b 4 —
© e i\ 4 i - Sof ¥
— = ? 3 :,g -
7] % ]E T 6 ;) . 2 ]
@. o i + 8 f=
g o25—"¥ Tl | ®
: amexoe’ | [ T:ae | ” g
"E:J 131 f g 1056
3 185 Outlet @25 165 L IEtgs
©
V15E, V18E Electric 2-stage pressure control
Low pressure adj.
: 1 1 276
DEC. High flow adjustment .
Solenoid control valves' Filing:por High pressure adj.
04.76:8%x32 \
g o .
gles INC.
9| = \ At | 2mieiTs
S} o = B o
== ~ Ga S =
5 2
Saiv!
:| &) 3
4-M8x20—/ | | /o
13 L
I 35’1147 ' 105,6
185 Outlet @25 147 Inlet @25
V15EG, V18EG Electric 2-stage pressure control + Remote
INC.
bed  High flow adjustment 78 Remote pressure port: PT 1/4 — Low pressure adj.
Solenoid control valves High pressure adj.
_\ Drain port: G 3/8" (Warning:don/t adj.)
44,5 . -
O 9 a5 04.763°x32 2
o 18 8 w L
6 b= 4-911
7 8 = b 2-M12xP1.75
v T ¥ P! o < - «of
g g e IR = o g
[Ty} L oo
@ @ :]- T E b= +:
wi ~TI[7, N ’ ; 3 I |
L b — o
© =]
& © ¢,25_/ i : 1 k=l @
! 4-M8x2 j
1 13 090
s, A =]
185 _ Outlet @25 165 Inlet ¢25




4

YEOSHE

Dimension

V15F, V18F Electric 2-stage pressure control & Flow control

Solenoid control valves

Low flow adjustment \ Drain port : G 3/8"
276 \ 44 5,

DEC. High flow adjustmen
[ \ D4.7615°x32
™
L=
O =8
| )] 4-011
=] \
2 ©
QT S S
P~ -1 3
') T °§
&, o I3 -
25— - | 2
4-M8x20 —/| | t
35,1 13 090
147 ‘?351aﬁ
185 Qutlet @25 164,5 Inlet @25

dwnd uosid [eixy A ﬂ

V15FG, V18FG Electric 2-stage pressure control & Flow control + Remote

INC.

Solenoid control valves Low pressure adj.

Remote pressure port: PT 1/4 Filling port
O Low flow adjustment 276
High dj.
DEC. High flow adjustment B e S - igh pressure adj.
= = 04.76.0 %32 (Warning:don/t adj)
Ol l° [
48
o 7w |/ |4-019 -
! § Voore 2-M12xP1.75
- e &
ol o 2 & &g © =
@ i © i S - ?O E
B T | Fa® L oS 3
5 ] 3 2
© ¢25—] m | 8 e
| 4-M8x20 —/ T
q 35,1 | 13 | 090 I
131 147 105.6
185 _ Outletg25 11&1_6 \__Inlet 25
V15GM, V18GM Remote pressure compensator with NG6 interface
NG6
LX) +’, +
O Drain port:G 3/8" (@@ + ° + Pressure adjustment
N\ 1968 445 i
DEC. Flow adjustment 48 o 54'?6'0 x32 40 Filling port
18 o| = 4-$11
\ | s > 2-M12xP1.75
1) : s o N
@ =
— ™
) S <t
3 ' o
lﬁ =

=

- : \ p
4-M8x20 —/

)
25— 35.1 13 L
1056
147 131
173 Outlet @25 Inlet @25

165

82,55-0.05

T

Copyright@2015-YEOSHE-ALL RIGHT RESERVED




Dimension

V15GJ, V18GJ Remote pressure compensator + Proportional pressure valve

196.8 445

: 48
peC, Flow adjustment 18 Proportional pressure valve 40

Drain port : G 3/8"

,_ / 04.76.4%x32

Pressure adjustment

N\

q i |’ | § o . O Filling port
d s /oo EL A 2-M12xP1.76
wy (i ~ 8_ 1“—-’_ 's) -
8 g & o o
S [ 1 = { S 3 gl &
B} | [ . e T
ol e - g

4-M8x20 —/

| ! \
35,1 13 20
25 - 147 t 1056
173 Qutlet $25 131 Inlet @25

=
In
60

dwnd uojsid |eixy A u

165
V15GR, V18GR Remote pressure compensator + Electrical unloading
Pressure adjustment O
g 205 44,5 INC. 40
DEC. Flow adjustment 48 et
Proportional pressure B +— Drain Port:G 3/8" Pressure adjustment
valve _\% ]/— (Warning: don't adjust)
J =004.76 *§ % x32 (-) / -
. 14 S Filling port
Relief valve ] @ E 6 |/°%os w0l 4-B11 : 2-M12xP1.75
3 & g ‘— gl e 2 :
+ ] I B 1 M w
e —H [ © o So =
N e g ) T o)
U | et i i LN
d g o
s | i N E
e 351 |18 | 090 I
131 @25 105,6
Outlet ¢ 25 131 Inlet @2

V15GB, V18GB Remote pressure compensator + 2-stage pressure control

)

O I 205 44,5
Drain port: G 3/8" =48 INC. i

DEC. Flow adjustment 18| High pressure ad‘!
Proportional pressure r L. T Pressure adjustment
valve {jr/l'w F / (Warning: don't adjust)
E] \ =14.76"09%x32) -
: \ g @
Relief valve & 6 °%|os )|
o : 8l 2
& g | < ™~
@2@ g" I_|_|' ﬁ I ! = Z
sl — og
o TP P — @
i \J g
4-M8x20 :I
] g0 |
131 ¢2s 105.6
Outlet % 25 131 Inlet & 25

www .yeoshehydraulic.com



YEOSHE

Dimension

V15GC, V18GC Remote pressure compensator + Electrical unloading + 2-stage pressure control

. 205 44,5 O

48 ING. 40

DEC. Flow adjustment 1 High pressure adj
Proportional pressure P .
valvpe p D:\ ’F r i s ressure ad usl.tme'nt
i —0q . | \ | f (Warning: don't adjust)
% 04.76*39%5x32 %
\ & w0 Filling port
; A q °
Relief valve 6 caur_:; o9 | 4- @11 2-M12xP1.75
g S| 2 g f
2| & i og ok
el AL A / = Z 3 E,9
~ | ¥ A
_ﬂ Il S 1T Pr'f Vel T @ L
I - \ls/ ‘Q_J g g
4-M8x20 I - -
| 190
131 P25 105,6
Outlet @ 25 131 Inlet @25
165

V15HQ, V18HQ Load-sensing compensator + Proportional flow valve+ Relief valve Low pressure

Adjustment
o Proportional Flow Drain port:G 3/8" High Pressure
: Control 252 \ 04.76 1392532 i 44 Adjustment
Flow Adjustment |\ 965 |44.5 o
R 48 _
| 0 Filling Port
14 8 e
6 [ ogleg o5 2-M12xP1.75
0| v )
o g [
= Q| = =
o« —| & ] )
4 - oL N3 B 3o 5
® e i o3 =
— 8 -
E @ P ol
- | 8 2
1
Qutlet —]- | 13 | 080
10" PTRG) 12 w B
19 GRS 173 85 131 Inlet & 25
50 : NPT 1/2" 233

V15HK, V18HK Load-sensing compensator + Proportional pressure valve+ Proportional flow valve

Low pressure
adjustment

Proportional pressure . : " High pressure
i . _! 53':'" Pt s 0.5 Drain port : PT1/4 adjustment
O 96,5 44,5, —04.7615%x32 / (Warning:don't adjust)
DEC. a8 f -
Flow adjustment ]‘
1818 e Filling Port
6/RIF 2-M12xP1.75
O g 2 g ".@_ ! —
o q 9 = o \ PP
g o X " . i - Ii’-_‘l_L bR 795l
I~ 2 Bl
L o o= qf /) =
g " 2 &
. 8 \[/ g
5 D
90
131 69 Outlet 13 A_I
L Threads code 105.6
131 131 10 : PT{RC)3/4" 223 100 131 31
! 40: G3/4" 62
?I?I a:nr;f: Latt‘?ched Inlet ¢25
in package) (Flange attached in package)

dwnd uosid [eixy A ﬂ

Copyright@2015-YEOSHE-ALL RIGHT RESERVED



Dimension
V15, V18 Thru drive (SAE AA 50.8, code C )
JA Thru drive (SAE A $82.55, code D )
M OO OO0—00C 00
Mol OO OO —O0RI O
]> ) INC.
Drain port: G 3/8"
E d DEC. DEC. 185 44,5 Pressure adjustment
9_ Flow adjustment Flow adjustment 48 +0.025
0476+ x32 -
) 18 8 & 44 , Filling port
N F =y || oolog| 2-M12xP1.75
== e ogd TN ‘
@ = .
= 1 = — 1 _Z S-St s 3o 3]
0 J i’ (1 | L g = !
= A TP I TH—
3 9 - U] | .
- +0.05 0 A 9
1 i - 13 090
\ 50,8 0 _/ 35_1146 S -
-M10xP1.5 2-M8xP1.25 g g;g"*‘ 112; 25
i 2 pump i 2 pump
D : SAE A (382.55 C : SAE AA %50.8
Type A|lB|c|ceg|crR|D |DG|E |EG|F |F6 |G |GJ |GM |HL |HK |Ha
(O Thru drive option| O ONEONEORE®) Ol |00
V15, V18 Splined shaft type V15, V18 Inlet / Outlet
375 375 311
. ] |'6' e Outlet Inlet Inlet
i [ H q35 24, 0135, | 24, | 0351 50,8
|| [% oq | o3| | | o3| o [@ ®$] J @ @ej ®_ 9 [—
| b - e || % 0 2 g & .
o o o oo Eat) S e@e E! |_l
S| S| S Ly
Tz T2 Tl s mesee e o2 /
Gt ORC CORD PLEQ

S: 13T DP16/32 S:11TDP16/32  S1: 9T DP16/32

www yeoshehydraulic.com



4

YEOSHE

Dimension

V23A, V25A Standard pressure control

dwnd uosid [eixy A ﬂ

O Drain port : G 3/8" NG, Pressure adjustment
DEC. Flow adjustment —\
. 223 58,5 [16.3555x40
21 & w
RE She )
3 | 9 ol 8
0 S | -
L ! =
L 1
$25 +D : = o
1 2
o [ I . <2
o T
14
a-m10x16/ —-HH-28:2 i Outlet 25 L Inlet 26
170
182
200
V23G, V25G Remote pressure control
Remote pressure port : PT 1/4
O Drain port: G 3/8" Pressure adjustment
; 223 \ ing: don't adi
N2 Flow adjustment 3 | (Warning: don't adjust) 55
58,5 [06.35:88x40
8w Filling port
L_ Spo
; 9 o g G
) NI 10 N [
I. o - 1 g o ool 8
[y ﬁ - —— B =] F’\I) — !
© =
. ] o
25 49 S
X ] - 3
N 1 L
Y :
—— 146
182 4-M10x16 | 26’2170 Outlet $25 Inlet 25
182
200
V23HL,V25HL Load-sensing control
Load sensing port: PT 1/4
Low pressure adjustment
Drain port: G 3/8"
High pressure adjustment
3 223
Flow adjustment

DEC.
16.35:9%x40

$22.2 9025
26,08 915

2385

= ) 3
© =
©
$25 )
< 8
o
w ¥ T
[l 262 __l__.ﬂ 146
4-M10x16, [ 170 Outlet 25 Inlet @25
i 200 182

Copyright@2015-YEOSHE-ALL RIGHT RESERVED




Dimension

' V23B, V25B Muti-stage flow & Singe-stage pressure control (with cylinder)
Pressure adjustment
Drain port : G 3/8" INC.
L 420 \ 58,5 0 6.35485x40
< RC1/4 \‘_L Qoo _39_‘ Filling port
> 18] S0 =
2] @
— e : ?
© 325 P og| = T
= A = & =
w B, </ & @
< 3 A ——————= NS
= 262 —L"_M Outlet 25 146 \__Inlet #25
4-M10x16 170
2] — 182
cC 200

©
V23C, V25C 2-stage pressure & Flow control

Low pressure adj.
Low flow adjustment

Drain port: G 3 /8"

Filling port High pressure adj.
2005\ 58,5 016.35382x40 \ O

igh flow adjustment

+ 51 w o
I @ Ak Slos ar NG
- =ma\e) 9 o @ L
5 —S 8 g
w = 1 © w0 - ?.Q ‘D_
f e o ol
A 3 Z DSI 2 | b
— _— P & Rl :
| ®25 o == {.i % g :
o /L | —== P
/ 14 N\
4-M10x1 e ' Outlet 25 146 Inlet (25
182 - s
182
205
V23CG, V25CG 2-stage pressure & Flow control + Remote
INC.

Remote pressure port : PT 1/4

Low flow adjustment \ 290.5 585

DEC. High flow adjustment Duain port : G 3/8" 06.353%x40 Filling port Hioh sisssursad.
| / (Warning:don't adjust)
5 _+—1

33

0
$22.2 0,025

$25,08-0.15

119.5
266
119.5

|

32
|
o™
bt T
4-M10x16, Outlet @25 / 146 \__Inlet $25
182

www .yeoshehydraulic.com



4

YEOSHE

ON:2-stage pressure & flow control

Dimension
V23CR, V25CR 2-stage pressure & Flow control + Low tension unloading ‘
Low Pressure Adj. A
Low flow adjustment
- 2005 56. i P High Pressure Adj.
DEC.  High flow adjustment Drain port: G 3/8" M\
51
o 06.3558x40 o
L O ik p § © — <
N >
4 < LI x
© — 8 & Q Fo 2 =.
I [ ~ E

I==Ni SR 2 QL

. ,.0 Q oo '_-
= [ ~5—3 = =]
L : 2 o

i
w T S : ] ‘8‘
] 14
S 4-M10x16 262 ~— Outlet 225 146 \__Inlet #25 -
I 170 182 @)
Solenoid control valves

OFF:II:.m:' tens?on u;;ca\él?n 205 C
©

V23D, V25D Low tension unloading + Pressure control
INC.H B

Low pressure Adj.

Solenoid control valves
O Duain port: G 3/8"
Fl i Filling port : P
SES ow adjustment : \ 297 585 96.35 3% x40 ap High pressure Adj.
= 8 @ '
] 3PS ) i
" i
o ©f
ol w
] S
-— ui N
©|
@25 | = 0
N S °
= |
0 T
4-M10x16 OQutlet 25 146 Inlet ¢725
182

V23DG, V25DG Low tension unloading + Pressure control + Remote

INC.

Low pressure Adj.

Sol id trol val
SEnbigeoivolyaves Remote pressure port : PT 1/4

X 297 High pressure Adj.

Flow adjustment

; : i 06.3550x40  Filli t
DEC. Duain port: G 3/8 —9—1' g po (Warning:don't adjust)
g O o 51 [ 585 ] i
(s} 18 8w I
= [¢] ocks
o &
o
2 0 | @ &
o) & z e« g
8
1 -3
; ; = )
; $25 §
® _
26,2 4&
182 4-M10x16 170 Outlet ®25 146 Inlet 2
205 182

Copyright@2015-YEOSHE-ALL RIGHT RESERVED




Dimension

Solenoid control valves :
Drain port : G 3/8"

' V23E, V25E Electric 2-stage pressure control

()

INC.
Low Pressure adj.

Fi ' \ -0.02  Filling port i i
oed. ow adjustment | 297 585 06.35 -0:05 x4 High Pressure adj.
< _ | 51 & o A
> ok Tk |z " *
< o of 8 F
—_ &l &€
Q < a'RE LA L 8
o { £ L "3
H — - P — O w
= 025" IV, 5 @
< | sl ©
o o L i
14
> 182 4-M10x16, HH-26.2 - _'L"_ Outlet @25 146 Inlet $25
] o 182
=
© ;
V23EG, V25EG Electric 2-stage pressure control + Remote
INC.
Solenoid control valves Remote pressure port : PT 1/4 Low pressure adj.
297 L High pressure adj
Flow adjustment . . . 06.3538x40  Filling port -
DEC: \ Drairport:: &'9/8 (Warning:don't adjust)
Q: O o) 51 | 585 i
/ o 18 8w a
s 9 | esp
oy
HEE=]
[Ts) ] n
o} § g A EE of 8 e
gy P I M ) -
| m-[ > og
. . - —F ©
: 925 41T s =
| Ii 1 g_ @©|
+ % L}
14
182 a-m10x16/ 1+ 26‘21?0 : Outlet %25 L. Inlet 25
L—-—.zos 182
V23F, V25F Electric 2-stage pressure control & Flow control
Solenoid control valves INC.
L dj.
Low flow adjustment Drain port : G 3/8" e
297 (16.3538%x40 _Filling port LR
&
& ™
°og
[{=]
S
h=s
4-M10x16 26.2 - Outlet 525 148 \___Inletgi2s
205 182

www .yeoshehydraulic.com



4

Dimension YEOSHE

V23FG, V25FG Electric 2-stage pressure control & Flow control + Remote

INC.

Solenoid control valves

dwnd uosid [eixy A ﬂ

Remote pressure port : PT 1/4
Low flow adjustment \ 297 /
) . 06.3508x40 e High pressure adj.
DEC. High flow adjustment Drain port : G 3/8", Bl (Warning:
é: O o \ 58,5 | don't adjust)
51 .
9 T B 8- ]
] \LLo |
| | 9l ©
5100 Hg i — J A s &
o ¢ 9_ o5
#@ _6 g «|
i — Hp———=t
1 Er\l’ T
__L 14 / N\
- 14
182 4-M10x16 t 26‘2170 Qutlet #25 d Inlet #26
182
205
V23GM, V25GM Remote pressure compensator with NG6 interface
NGB
o0 + , +
00 +° + b
y 223 Pressure adjustment
DEC. Flow adjustment 51 %
Drain port : G 3/8" T, [16.35-0.05x40
58,5 B ow Filling port
s .
9
o & =)
olF e
z]; g < %
o P ]
— - — | - —
925 41 S ©
< L L ! § ©
o
w ¥ 1
__L.-_M 146
4-M10x16 Outlet @25 Inlet #25
182

V23GJ, V25GJ Remote pressure compensator + Proportional pressure valve

223
DEC. Flow adjustment 51 Proportional pressure valve

) Drain port : G 3/8" 18 N
[1 \ 6.35 305 x40
@

®

®

Pressure adjustment

X

) Filling port

o
,_I 2
w
25 =
| ©
(9]
uw
182 4-M10x16 / 146
I z Outlet #25 Inlet @ 25
182

Copyright@2015-YEOSHE-ALL RIGHT RESERVED




Dimension

O Pressure adjustment O
DEC. Flow ad]ustment //’/ INC. 40 Pressiife

adjustment

' V23GR, V25GR Remote pressure compensator + Electrical unloading
<
>
a

Proportional —
prr:spsour:::lve J:FI 58,5, / Ll £ (Warning:
El I 002 don't adjust)
o 51 /;g_ 26:35-0.05x40 Filling port
elief valve oa| oo
o) <  iAs 3 o |34
—_ ™ MY ™ -
o) ¢ (g < |u; S e o
et o o3 &
7] { e PlL——4 :
¢25 ) _]1 = %
ﬂ- -
g @ [ —_— NS
o 182 4-M10x16 26,2 __L 14 146
c 170 Outlet @ 25 Inlet @ 25
3 200 e 182 ML CT-
e}
V23GB, V25GB Remote pressure compensator + 2-stage pressure control
DEC.  Flow adjustment Drain port:G 3/8" | 51 High pressure adj. 40
" = — Pressure adjustment
Proportional ) Pressure adjustme
pressure valve Eg‘ 58,5 /Iﬁw (Warning: don't adjust)

Relief valve

326

326
25,08-0.

’w
$22.2.8025

0

0 15@J

002
.35005x40 Filling port
X : s
- d >
NN

] o)
o 2 - 1 [=T=00)
E ‘BT 'Rl - SO @
*A J—I °s a4
/ﬁlb d25—Tale) 19/ _D = o
T
- e
182 4-M10x16 {1{26.2 | 14 146
170 Outlet #25 Inlet 25
200 —_— 182 ————

V23GC, V25GC Remote pressure compensator + Electrical unloading + 2-stage pressure control

@,

O | 225 INC.
DEC. Flow adjustment  [Drain port:G 3/8" |_51 High pressure adj.
| meem——————— )
Proportional - W]rtﬁ ) . Pressure adjustment
QO ressure adj.
pressure valve \ 58,5 //—WF$l (Warning: don't adjust)
L 06.353:05 x40
@ q R Filling port
Relief valve g 18 cg o5
Q LLo el 8 Q
O - o m hes 2 o
bl [ 0w m
T @ 'b\ ! h O
£ ‘}\ _I T
o > |

il
o
Te]
182 Faitocie 26.2 |14 / 146
170 Outlet $25 — Inlet 325

=5
W
=

www .yeoshehydraulic.com



4

YEOSHE

Dimension

V23HQ, V25HQ Load-sensing compensator + Proportional flow valve + Relief valve Low pressure

Drain port:G 3/8" adjustment
272 [ 06.35.0,04 x40

116 High pressure
O [ 58.5 - adjustment
51 wn i
DEC. " g 2 " Filling port
Flow adjustment ﬂ % og|og ]
oy @
ol 2 _
i I~ 1 o ﬁ =l o
S 'E—I & el © ]2
8
1 3= (i
. i | il © _@_ . — Q
) o i
) - - B
‘ T
14
I e LL 76.2 146
QOutlet 200
Threads code 2482
10 : PT(RC) 3/4" “ Proportional flow control
40: G 3/4"
50 : NPT 3/4"

dwnd uosid [eixy A ﬂ

V23HK, V25HK Load-sensing compensator + Proportional pressure valve + Proportional flow valve

Low pressure

adjustment
Progtitionl I - Izﬁ‘;a" Drain port: PT1/4 " 2{;?:5?:‘::3@
pressure valve _'LX 9
. 116 i D6,35.8.8§x_40 (Warning:don't adjust)
51 8 e Filling port
wanc) R E _
INEEREER %
h=) 30 st o 2
'| ] o | bD i
® ® : p.lc
- G 9 ] ) - " L
n [=0]
| i \ @
| 14

. &
123 |
I 160 —'L 1 \
Outlet 200 75 146 Inle5t
247

Threads code
10 : PT(RC) 3/4" Proportional flow control
40: G 34"

50 : NPT 3/4"

V23, V25 Thru drive(SAE A ¢82.55, code D)
Thru drive(SAE B ¢101.6, code E)

v |23 — [ T |a|B|c|celcr| D |pc| E |EG| F |F6| 6 | GJ|GM|HL | HK|Ha|
EEE%%_EE%EE [Gwawmm[o] | [ | [olololol | [olololololo]

224 58,5 . O
Pressure adjustment NG

51 06.3556x40
Clow adiust 0 : G 318" PP 3
ow adjustment )
9T DP 16/32 9T DP 16/32 w-adu 9 o Filling port
Wit Wi O \ N
ASZ24
: =

0
-0.025

$25,08 -0.15

¢ 22,2

193

$101,6-0.05

+0.06
$101,60 146
p— -M12xP1.75 e MI0KP15 182

Links E : SAE B %101.6 Links D : SAE A ¢/82.55

Copyright@2015-YEOSHE-ALL RIGHT RESERVED



Dimension

' V23, V25 Rear port ( Please flowing order code no.6,add“B” )

DDDD—DDDDD O Pressure adjustment

B : Axial port

INC.
| 223
58,5 [16.3530:x40
: ; i @
< Deé. Duain port : G 3/8 & o
ogleg
> . : of 8
I T [
o™
;_i_ A2 S @
— [¢] o) [=2]
< &5
— q.l \ “‘j[ o (cé —
) ) o = -
O, o I b g "
w
wn Inet ——1 —Outlet s
— Threads code Threads code f
0 10: PT{RC) b 10 : PT(RC) 3/4" 146
3 40:G 1" 40: G 3/4"
50 : NPT 1" 50 : NPT 3/4" 182
2]
=

©
V23, V25 4 Connections for rear port ( Please flowing order code no.6,add“B2" )

MEOO0EIO—-00000

O Duain port: G 3/8" INC.
DEC.

Pressure adjustment

o
o
w
4]
&
&
>
=
o

223 58,5

Flow adjustment} !
51
18
. | o
5 _I |
7 N
-t
Outlet 3

$222 -0.025
%2508 -0.15

=

0
101.6-0.05
193

|l ' 'S
Inlet |
Threads code Threads code e | o !
10 BT 7 210 10 : PT(RC) 3/4" = 1 146
50:NPT1" 140:G 3/4" 182
50:NPT 3/4" | 224
Pipe code B2 : 4 connections for axial port 210

(interchangeable for side and rear port)

Type A B C | CcG D | DG E EG F FG G GJ [GM | HL | HK | HQ
O Axialportoption | O | O Ol |0]|0O
V23, V25 Splined shaft type V23, V25 Inlet / Outlet
425
Outlet Inlet
9
e L 2622, 32 i26-2i o2
wy
o
| og ]
=i : :
: 11 ® :
1
22 Threads code Threads code
335 10 : PT(RC) 3/4" 10:PTRC) 1"
: 40 : BSPP(G) 3/4" 40: BSPP(G) 1"
50 ' NPT 3/4’ 50 ' NPT 1

S: 13T DP16/32

www .yeoshehydraulic.com



4

YEOSHE

Dimension

V38A, V42A Standard pressure control

dwnd uosid [eixy A ﬂ

INC.
f 232 98,5 Pressure adjustment
. |
DEC_I Drain port : G 1/2 oy —06.3 292,40 Filling port
Flow adjustment Q) w
2 |pglos
b o m
8 2
s
al [ 8 £
W - og o
- T w
{— ] ‘_"
; u =
o317 yTal] | 3 _, __
/ 30.2 _J_ 45 | 146 ,
4-M10x16 l 179 Outlet #31 460 Inlet #31
' 209 198,6
V38G, V42G Remote pressure control
Remote pressure port : PT 1/4
Drain port: G 1/2" Pressure adjustment
i 2323 585 (Warning: don't adjust)
: 119 &
Flow adjustment 3
DEC. 51 06.35:3% x40 -
19 fr = Filling port
o4 uwy
g9 =1 P
o 2 i
h & E w] — o0
o —l: 1 s 8 ,‘! 9:: 2
o™
N ENE VN Y R
St— -
& 4 AN
o317 /0[] | :
/ 30,2 4L__,_145 146
4-M10x16 . Qutlet #31 Inlet 331
| 179 160
209 1986
V38HL, V42HL Load-sensing control
Load sensing port : PT 1/4
Low pressure adjustment
Drain port : G 1/2"
High pressure adjustment
232 58.5
O Flow adjustment 19 39
51 06.35 5%x40
DEC. e
SRR & I Filling port
[a'] [Ty}
9 Q| =
ogles b
=up o Go‘.‘) T L
= | & & O = 21w
2 35 ™ vl =
N A h 2
m‘“‘$" -
b &) J o
o3~ Y0l | —
30.2 «L 146
1266 4-M10x1 | - Outlet ¢ 31 P Inlet #31
209 198.6

Copyright@2015-YEOSHE-ALL RIGHT RESERVED




Dimension

V38B, V42B Muti-stage flow & Singe-stage pressure control (with cylinder)

(Remark:Install with A type control)

dwnd uojsid |eixy A u

. 4285 58,5 INC.
% Pressure adjustment
Drain port: G 1/2" 06.35:58x40
& w
9 o] =
: : [oc|oc =
I 1==) o g =
RS
= (=1
o ] -
= o & M W ! cg ™
ol ] L : T ©
w 1 -
5 & =
¢31.~ 7] | - b
30,2 | 145
4-M10x16 | 179 Outlet #31 pees Inlet @31
209 198,6
V38C, V42C 2-stage pressure & Flow control
Low flow INC.
ac_ijustment sod s Low pressure adj.
DEC. :(Ijg:sit]:w:rnt 51 J 06.359% x40 Filling port High pressure adj.
Drain port : . A
rain port : G 1/2 1 @
g 2
# 2 [os|os a
(e) = o ™
1 N
: 2 | ol Tl . 9 gl &
o 2 T 2 =l =t N n
~ iy 4 W - / Ly h @
— 2] =t 2
b &) 2 i o
- sl
$31 /1L | HLF
198.6 302 | 220 Outlet 145
; 4-M10x16 i @31 160 Inlet  #31
209 198.6

V38CG, V42CG 2-stage pressure & Flow control + Remote

@,

Low flow INC.
adjustment Filling port Low pressure adj.
High flow I 294 Remote pressure port:PT 1/4 . i
DEC. adjustment Drain port : G 1/2" 58,5 High pressure af'il-
—\ 51 ) (Warning:
2y = (16.35: x40 L don't adjust)
f § o |
1 ] og|og
e o g
&l v oof 2 o o
QT I 0
ot N Y = !
G ZARNE .
4-M10x1 e/ 0.2 —L"_ outtet @31 / | P2l [\ inet g31
[ 179 el 2t 160 et @1
209 198.6

www .yeoshehydraulic.com



4

Dimension YEOSHE

V38CR, V42CR 2-stage pressure & Flow control + Low tension unloading

Low flow LINC, E:
: ow pressure adj.

adjustment ) 204 58.5

High flow

DEC. adjustment Drain port : G 1/2" Filling port High pressure adj.

[6.35 §§5 x40 7

o
L)

@)

1 |g
{i=]
0
0222 8025 |
2508815

293

73

M

. ’
L] E
?31 g : :
| 14,5
30.2 L =R | |
4-M10x16 T 179 Outlet @31 160 Inlet #31
Solenoid control valves 1
OFF:Low tension unloadin 209 98,6

ON:2-stage pressure&flow control

dwnd uosid [eixy A ﬂ

V38D, V42D Low tension unloading + Pressure control

Solenoid control valves -
Fi 301 58.5 Low pressure adj.
ow 1 "

adjustment

06.358%x40 Filling port High pressure adj.

Drain port : G 1/2"

o, \
Py e

({=)
1]
(bzzm
25.08.0.15
|33|

+0.3
122

13,5

243

4—#.—"*?”"
1T

4
931 d
30,2 |_14.5 146
4-M10x16 I 179 OQutlet @31 160 Inlet $31
209 198.6

V38DG, V42DG Low tension unloading + Pressure control + Remote

Solenoid control valves: Eilling port INC. "
301 Remote pressure port: PT 1/4 Low pressure adj.
O F::"“’ iment 5 - 585 High pressure adj.
adjustmen ; i " .
St j rain port : - (Warning:
e - = 2L 116.3548x40 | don't adjust)
Q i q w 3
o [*] o T r
ool
o™ )|
ﬁ 3 o : ! © E
_lj Py [aY] g 2 90 —
o 1 =] 0
X 0 ]l i ) ol
] 1= & j =
1 ¥s e 5 o
331 ] :
30,2 | 14,5 146
4-M10x16 179 : Qutlet @31 160 Inlet @31
209 198.6

Copyright@2015-YEOSHE-ALL RIGHT RESERVED




Dimension

Solenoid control valves

V38E, V42E Electric 2-stage pressure control

' lNC'
e Low pressure adj.
O Flow = ' High j
oec.  demen Drain port: G 1/2" =1 06353840 _Filing por PR,
< —D 19 - -
> O J\J; oglos B
=0 L
[a'] L]
- g N o sgl &
o o A o o]
~ ® @ ! e
=) o aYil= p
— — - = —+
(@) $31 -[tl_ | |
3 30,2 ! 14.5 146
_o 4-M10x16 / 179 Outlet @31 i N Inlet #31
= 209 1986
© .
V38EG, V42EG Electric 2-stage pressure control + Remote
Solenoid control valves Filling port INC.
S Remote pressure port : PT 1/4 Low pressure adj.
Flow . .
O adjustment Drain port : G 1/2" 58,5 High pressure adj.
DEC. 51 (Warning:
O ° 06.35 36 x40 | don't adjust)
= o)
18 o | § e =t
| ] P
A o g
(%] 3] w (']
ol o ) « ©
C‘> @ ]l s © &2 %2
~ & — — w3
~ ] P @ W H _L o
v ——— . <11 = —F
- @ B D o
i 2 A -
NN 331 ] | H
30,2 __I__.ﬁ 146 |
198.6 4-M10x16 179 Outlet #31 160 Inlet @31
209 198.6
V38F, V42F Electric 2-stage pressure control & Flow control
Solenoid control valves: O
INC.
Low flow ;
adjustment 585 Low pressure adj.
- 301
Se Hégh It:lcrwt - 002 Filling port High pressure adj.
3 adjustmen ; : v =21 .35 005x40 TN
Drain port : G 1/2 3 " 006.35 905 x40
] T 4
- ogles @
e | @ L
| o -
o ™ ® So| §
& g ) —
i p o
=
p o
h 1 [
5/ 302 ..L..-a_-“‘ 5 146
- = Outlet 1
4-M10x1 179 @3 160 Inlet 31
209 198,6

www .yeoshehydraulic.com




Dimension YEOSHE

V38FG, V42FG Electric 2-stage pressure control & Flow control + Remote

Solenoid control valves

Low flow T INC.
. Filling port
adjustment Low pressure adj.
High flow 301 Remote pressure port : PT 1/4 Sich i
DEC. adjustment Igh pressure adj.
BusmeT k Drain port : G 1/2" 58.5 \ (Warning:
51 [16.35 38 x40 don't adjust)
ol]° e I =t
o W, o
o 9 b M -
oe:
oy 2
9 1 n
N TE ! : o
'—-—ﬂ} H— —f . : =
4 | o
[
i -
/ 0.2 —L"ﬁ‘i Qutlet 31 / 16
4-M10x16 | 179 utlet @ 160 Inlet #31
209 198.6
V38GM, V42GM Remote pressure compensator with NG6 interface
NG6
00+, +
i o [
00 +° +
DEC. 232 = Pressure adjustment
Flow adjustment | Drain port: G 3/8" [~ 1 016.35 562 x40
58,5 ﬁ 2 Filling port
[ 9 |[oS|es
ﬂ— o N ow ~
= R=2

73
;,? |
I
1
%
T
1016805
227
121
+0
135 0
113.5

]

% ) | d
ear” ¥ =1 1s )
/ 30,2 ~—|— * / 146 |
4-M10x16 | 179 Outlet @31 160 Inlet #31
209 198.6

V38GJ, V42GJ Remote pressure compensator + Proportional pressure valve

2323
O Flow 51 Proportional pressure valve
adjustment 3 /

1
DEC. Drain port: G 1/2" Pressure adjustment
\[10 / 06.35 8% x40
EI | 58,5,/ g o Filling port
a 9 |=%|°%
po : R o ] =
8 3 = S o 3| o : @ o)
s ¥ i b
gl 1 '] d
~ ] ® @ W B ! ng h ]
& /@)' 1 — @
e) | =) p o
i | - 5
31 —rr
30.2 | 145 146
4-M10x1 179 Qutlet #31 160 Inlet @31
209
198.6

Copyright@2015-YEOSHE-ALL RIGHT RESERVED

dwnd uosid [eixy A ﬂ



Dimension

V38GR, V42GR Remote pressure compensator + Electrical unloading
A Pressure
adjustment
DEC. Flow adjustment 232 511 58,5 INC.
Proportional pressure —_—T ) R Pressure adjustment
< valve EI i / — Drain port:G 1/2 (Warning: don't adjust)
[—|3 06.35 §8x40 N
5 Relief valve /T}l" 9 §.c£ Filling port
o g ' F ] g -
N S
~ q7 & EEE 5 5
e " g]’ : v |* a &
—_ ¢ @ b= )
= q : 1 i e[| WA o |
o H_ o —= =
o bithill o i
= $31 —)
4-M10 16/ 202 s / 14 \
"c 198.6 - X 179 Outlet @ 31 160 Inlet & 31
53: 209 198.6
©
V38GB, V42GB Remote pressure compensator + 2-stage pressure control
" 232 INC.
DEC. Flow adjustment |Drain port:G 1/2" | 51)|58,5 T - . .
Proportional pressure T ressure adjustment
valve Low: pressure.adj. (Warning: don't adjust)
= Dg.35$:3§x40
. o o Filling port
Relief valve E /Dg‘:’g hing p
] & o~ ™ .
ﬁ— "‘O)- 3 e o) w
o ™ & go O
=
H o
219 _lf N
—t— ¢31/ | — ==
4-M1Dx16/ 302 | 145 Outlet 31 [ 146 Inlet &
1986 179 160 iet @51
209 198.6

V38GC, V42GC Remote pressure compensator + Electrical unloading + 2-stage pressure control

INC.
DEC Flow adjustment 232 51 ) )

' Drain porlzg 1/2 High pressure adj . i
Proportional pressure [ CTTTF ressure adjustmen
valve I:p 988, Low pressure adj i (Warning: don't adjust)

]/ [16.35:3§ x40
Relief valve 18 &g »
o 9 oS
O L] 'l oo o)
= 3 K] 3
- N NI 9
L o = s o E:.
[l i 1]
s o @ 2
q I3 E 1 1%\ E —L. )
0 — =
{ ; A i g
®31 _/ | A
_/ 30.2 ] 14,5
1986 4-M10x16 5 Outlet @ 31 Inlet ¢ 31
209 198.6

www .yeoshehydraulic.com



Dimension YEOSHE

V38HQ, V42HQ Load-sensing compensator + Proportional flow valve + Relief valve

Low pressure adjustment

L 280 i I 2
58,5
_Drain Part: G 1/2" 19 51 06.35 88 x40 ke |
(] 1 - -‘\ Filling port
g @
2 Joglos &
o @
ol S
o s
3 — 1 s s
®® W) d
@/® (1
Qutlet _l___ﬁ,ﬁ_
Threads code } 1485
10 : PT(RC) 1" 209
40:G 1"

50 NF?T " Proportional flow control

dwnd uosid [eixy A ﬂ

V38HK, V42HK Load-sensing compensator + Proportional pressure valve + Proportional flow valve

Low pressure adjustment

Drain port : G 1/2"

High pressure adjustment

06.3588 x40

Proportional

O pressure valve

DEC.

Flow adjustment

15

133,

¢22.2 §025
25,08-

121

73

14.5
Drain port : PT1/4 Inlet

Proportional flow control 262

Outlet
Threads code
10 PT1(RC) 1"
40:G 1"

50: NPT 1"

V38, V42 Thru drive (SAE A ¢82.55,code D)
Thru drive (SAE B @101.6,code E)

DDDDD—DD@DD | Twe | A8 cce[crlo oo e [ec] ¥ [Fo] ¢ [oi]omlni[rK]nal
MEOOOOO-00EB00 [Omndveopion [O] | | | |Oo[o|ofo| | [o]|ofo]|o|o]o]

Pressure
O 232 58,5 adjustment O

i : v 51 INC.
DEC. Bl S e 06.35 3% x40 i Fiing port
i w
14T M1.25 14T M1.25 Flow adjustment 9 § w©
% oglog )
[t -4 -
S o e =
A < w| ~
K — ~N h g
g I DN | e
— 0 —
+0.05 4 146
$101,6 0 |e82 550, ] \ 30'21?4 145
146 -M12xP1.75) 106 -M10xP1.5 198.6
pra——"— 231

Links E: SAEB ¢#101.6  Links D : SAE A $82.55

Copyright@2015-YEOSHE-ALL RIGHT RESERVED




Dimension

N\

DEC.
Flow adjustment

V38, V42 Rear port ( Please following order code no.6,add“B" )
MeIOOEIO—-00000

30

232 Pressure adjustment

INC
51 .
Duain rt:Gwz"I'_1E = 06.35 48 x40

s |12

of o

of S|

ol W

IT T

L

[TTT 1

Filling port

L
|

209
241

A
<
>
x

L
=

L4
o

=
©

=
=

Inlet Outlet

Threads code Threads code

10 : PT(RC) 1-1/4" 66,6' 10 : PT(RC) 1"
40: G 1-1/4" 204 40:G1" |
50 : NPT 1-1/4 B: Axial port 50 : NPT 1

©

V38, V42 4 connections for rear port ( Please following order code no.6,add“B2" )

MEI O O0EI O —0O0000

Cover plate

232 58,5 Pressure adjustment

DEC.
Flow adjustment

INC.
i = [16.35 565 x40
Duain port : G 1/2" 1 = .35 05
| v
9 =t T
e -
F—Hea| | o
8 g
¢ e
] =]
&

{

ITTT 1

Outlet
Inlet Threads code e
Threads code . " o LI
10 : PT(RC) 1-1/4 WRHEOT g
40: G 1-1/ 224 50: NPT 1" | 302 L 14.5 146
50 : NPT 1-1/4" 1 1 =479
179 | 198.6
Pipe code B2 : 4 connections for axial port 209
(interchangeable for side and rear port) 231 224
I
Type A B C CG D DG E EG F FG G GJ | GM HL | HK | HQ
O asxialportoption | O | O | O | O OOl O|O|O0O | O
V38, V42 Splined shaft type V38, V42 Inlet / Outlet
425 47
g 9 Outlet Inlet
— _ . 30,2, 132 _, 302, .32

w
f—a Q (——
|| o ||
=D £
- S -
A=d
r
— 23
33,5

S: 13T DP16/32

www .yeoshehydraulic.com

0
$101,6 -0.05

27
38

S1: 15T DP16/32

-
D

-

587
58,7

QOutlet

Inlet
Threads code Threads code
10 : PT(RC) 1" 10 : PT(RC) 1-1/4"
40 : BSPP(G) 1" 40 : BSPP(G) 1-1/4"
50 : NPT 1 50 : NPT 1-1/4"




4

YEOSHE

Dimension

V50A, V70A Standard pressure control

INC.
Pressure adjustment
L= 1 306 57
. a7. 20:02
Flow adjustment 73 - 7.8408%43 -
Drain port; G 3/4" 33 [ I 74 Filling port
10| oolos |
w| w
P o]
= 8 0|
=y ol 8
) 0 [Ts] | =
NE: o3| g i
© — 5 o
s S
—— $38 =
357 __I__.ﬁ
2615 4-M12x25/ 41— 256.5
—— ]
300 Outlet %38 208 Inlet ag
2615
V50G, V70G Remote pressure control
Pressure adjustment
(Warning:don't adjust)
Drain port : G 3/4"
306 Remote pressure port : PT 1/4

180.5 57
0.02
Flow adjustment 07.94 505 x45
_ 8 ) Filling port
10) od|oo
| o =
o)
o 8
(T3] [Ts]
8— ) = ) tod;
~ « od 4
[
)
o
$38
24
4-M12x25 } = 0115
256.5 181
300 Outlet #38 208 Inlet 38
261.5
V50HL, V70HL Load-sensing control
Low pressure adjustment
Drain port : G 3/4” 206 High pressure adjustment Load sensing port : PT 1/4
I
DEC. Flow adjustment S -
o O7.94505x45 Filling port
[ 10l [_2] &
LIRS "
—| 7
(3] (a4}
] Rt 0| o
@ ] T3] ol =
@ 8 &
™~ o« = &
©, 5 -
' ©!
$38 =
24
4-M12x25 {
258,5
300 Outlet 38 208 Inlet 38
2615

Copyright@2015-YEOSHE-ALL RIGHT RESERVED

dwnd uosid [eixy A ﬂ



Dimension

V50B, V70B Muti-stage flow & Singe-stage pressure control (with cylinder)
(Remark:Install with A type control)

INC.
. 511 57 Pressure adjustment
< 3 —17.94 3545
Drain port : G 3/4" 33 f 8
> 10)/oclos
wl W
) e —¢ s ” 8
L]
o, z x
wn 5 =
8 #38 =
4-M12x25/ 5
= | ' 2565
S 300 Outlet ¢38 208 Inlet @38
C 2615
©
V50C, V70C 2-stage pressure & Flow control
V50CG, V70CG 2-stage pressure & Flow control + Remote
INC.
Low flow Low pressure adj
adjustment 144 v ;
= igh pressure adj
H|gh flow ¢ 409.4 57 84 Wagmir? :don't ad'ustl
DEC AN Drain port : G 3/4" L2 017.94 53 x45 A
_ - 39 (LG . i | Filling port
w w ¥ e
| o L r
=| w o w
g s 3ol g
8 ® @ 8 8l @™
o oo L
a1 ' — ~ s
L) ‘-(E .:l 8
'L‘ @l 9 ®38 | ]
/ | 24
4-M12x25, | 357 0115
I 2565 181
300 Qutlet 338 208 Inlet @38
261,5
V50CR, V50CR 2-stage pressure & Flow control + Low tension unloading
INC.
Low flow Low pressure adj
adjustment ) .
O High flow . 409.4 57 84 High pressure adj.
DEC.  adjustment Drain port : G 3/4"
73 )
= gDTB‘Lu.Eg x45$ Filling port
| 1,10l oSS
' gl 8 o IO -
5| 4 & @l
o Fal3
@ L=} ——
L=} L
nieunmss il -
) g | ,o_
[
24
357 —H.2 o115
' 256.5 181
Solenoid control valves 300 Outiet $38 } 208 Inlet $38
OFF:Low tension unloading 261.5

ON:2-stage pressure & flow control

www .yeoshehydraulic.com



4

YEOSHE

Dimension

V50D, V70D Low tension unloading + Pressure control
V50DG, V70DG Low tension unloading + Pressure control + Remote

dwnd uosid [eixy A ﬂ

299 Low pressure adj. O
; 3302 High pressure adj.
el 57 84 (Warning:don't adjust)  INC.
i Drain port: G 3/4" | 73 002 i (DG type)
Remote pressure port: 10w adjustment p = ’—KIZ)! 7.94 58 x45 i s
PT 1/4(DG type) 8| o /
o ok 4o
| [Ty s
i [
=
o 4 IR I
2 m 1 ;i
N & i o5
AR i 1 = z
@, 559
S
oss ~ PHI | | -
I 24
4—M12><25/ | 35,7 =
2615 2565
Solenoid control valves 300 Outlet %38 \_Inlet #38
I
V50E, V70E Electric 2-stage pressure control
V50EG, V70 EG Electric 2-stage pressure control + Remote
Low pressure Adj.
" 330,2 229 High pressure Adj.
57 84 (Warning:don't adjust)  INC.
DEC. =
: ; " (EG type)
_ Flow adjustment Drain port: G 3/4° (.73 07.9458x45 Filling port :
Remote pressure port: 0 /
o~
PT 1/4 (EG type) @ og o5 S
2] w -
~l o
o & o
3 . M T
8 ® ks ng
B 5
®38 =
4-M12x25
2615
Solenoid control valves \__Inlet #38
V50F, V70F Electric 2-stage pressure control & Flow control
V50FG, V70 Electric 2-stage pressure control & Flow control + Remote
Low flow 229 Low pressure adj. INC.
adjustment ~ Solenoid control valves B4 High pressure adj.
O High flow \ 409 (Warning:don't adjust)
DEC. adjustment | 57, { (FG type)
Remote pressure port: Drain port : G 3/ "?3, —07.94 305 x45 -
PT 1/4(FG type) = ]'3" 7o/ 5] . Filling port
1JO I i 1°8°% s Qo] | )
@ w4 o o 9
o o ol = Fol| o
P=] [ ] ol v [+ R
@\ e ( R RS B
- ——1|- j [ [ SE— g1
= 50 o < 1] g
38 /—— | \
4-M12x25 35,7 _"L"ﬁ [ DY‘HS ]
256.5 181 Inlet
300 Qutlet #38 / 208 38
2615

Copyright@2015-YEOSHE-ALL RIGHT RESERVED




Dimension

A V50GM, V70GM Remote pressure compensator with NG6 interface
NG6
*30; Pressure adjustment
DEC. 73
< Flow adjustment _ 33 —(17.94 3 x45
57 S o
> 10| o5|e<
< o o ; ]
Q' o 8
[T}
(=11 o
e / 124 5
= ami12x25/ el 35:2756 5 _.QJéLf)._
s 181
-U 300 Outlet @38 208 \__Inlet 38
CBZ 2615

= V50GJ, V70GJ Remote pressure compensator + Proportional pressure valve

: 306
PF'IJPC‘FUUI"a' pressure Pressure adjustment
valve Drain port: G 3/4"}=12
33
() or .
DEC. ] | 57, § N je
Flow adjustment :| 10 ooloo
sl el
\ | o -
—|
o) ) =
L ks o
(=]

0

)|
=
<N

a-M12x25 / ] == 0115

256,5 151
300 Outlet #38 208 Inlet 38

2615

& 127 -0.05

V50GR, V70GR Remote pressure compensator + Electrical unloading

Pressure adjustment O
306~ INC.
74

DEC.

Pressure adjustment

Flow adjustment 73 | 57 _~— Drain port:G 34" 1 st
Proportional pressure - D] / = (Warning: don't adjust)
vahen f 07.94 3% x45
133 § & Filling port
Relief valve 10 o9 oo
w| o _
~| o
&]‘E Q s b\ g = /’
N AV M ! i 7.
L “} Mote — S W\
2 = o e'/] H =
_,_Qj ¢3 T [ — -~ b
/ 24 — ey
4-M12x25~ 1357 s o115
261.5 256.5 Outlet ¢ 38 181 Inlet #38
300 208
2615

www .yeoshehydraulic.com



4

YEOSHE

Dimension

V50GB, V70GB Remote pressure compensator + 2-stage pressure control
High pressure adj.

306 NG
y Drai t:G 3/4. Low pressure adj. L
DEC. Flow adjustment raipal 7333 74 Pressure adjustment
Proportional pressure D] - (Warning: don't adjust)
valve 7.94:3$x45
9 Filling port
S o
t (=i= O?
| o =
o8 8
. n O l S o & N=T=
Q = = o
) =1 it
N far\ o 5”- . ﬁs 3
N EEYAY — X \ZZRp ks i =
? S > et 'c
s3s— AHI LI P
4 357 _.L_El‘l a5
M12x25 f
2615 256.5 Outlet $38 181 Inlet 38
300 208 -
261.5

dwnd uosid [eixy A ﬂ

V50GC, V70GC Remote pressure compensator + Electrical unloading + 2-stage pressure control

O 306 High pressure adj. |NC.

DEC. Flow adjustment Drain port:G 3/4" Tt Low pressure adj. - Pressure adjustment
Proportional pressure q:\%] B SR (Warning: don't adjust)
valve A\ [17.94 3% x45
% [ 57 9o Filling port
Sloo
10)=%
I W -
M~ o
| @O @
| /1 817 8o
® 8 =] -\
Yan i °9 N
o — N N2
[ i AP o
- 5 e '8
@38 | — —:;
| | 24
4-M12x25-/ HH357 = 0115
2615 256.5 Outlet @ 38 181 Inlet @ 38
261.5

V50HQ, V70HQ Load-sensing compensator + Proportional flow valve + Relief valve

Low pressure

adjustment
. High pressure
Drain port : G 3/4" INC. adjustment
421
\_180.5 57
DEC. _ 3 —07.94 3545 -
Flow adjustment 33 T g. o Filling port
f oglee
[=:] | uw [=2]
] ~| @) 2]
11 —| w
o ™ o
?’— ﬁ | h=a g 2 ) ?
q 1 B s R :
[ Sl aa g — S A :
© o > q b Ig
24
104 ol B
Qutlet | 300 01§

314.8 Threads code ; 3214 181
| e
50 : NPT 1-1/4" 3148

Copyright@2015-YEOSHE-ALL RIGHT RESERVED




dwnd uojsid |eixy A u

www .yeoshehydraulic.com

Dimension

V50HK, V70HK Load-sensing compensator + Proportional pressure valve + Proportional flow valve

Proportional
pressure valve

DEC.
Flow adjustment

Drain port : G 3/4"
\ 454\

\_180.5 57

0
Sozs ]

353 5-8.2

l$ 31,75

(Warning:don't adjust)
Low pressure adjustment
High pressure

adjustment

[17.94.00x45

322

0

$127-0.05

104 Outlet | 300
3148 Threads code | I 3214
F 10:PT}RCJ 1-1/4" A\t . e 134
40 : G 1-1/4" Drain port : PT1/4
50 : NPT 1-1/4" Proportional flow control 80 208
3148
V50, V70 Thru drive (SAE A ©82.55, SAE B ¢101.6, code D or E)
Mo OO OO —O0 R
MEeOOOOO-—00E00
INC.
306 57 Pressure adjustment
DEeC. -
Flow adjustment | .~ (T3 B7.24 38x45
Drain port : G 3/4 33 § . 74 Filling port
odlog
= 8
k=
of Wy
o3 o
~ ™
o
0.0 0.05
o] 82.55+0 $101 ,6+0 2-M12P1.75 256.5
146 *
LMIOPLS Links D: 318
Links D : SAE A ¢82.55 E : SAE B #1016 SIS
Type A|B|C]|CR|CG DG| E |EG| F [FG| G | GJ |GM| HL | HK [ HQ
(O Thru drive option O Ol O10 | O OO0 0|0 | 6




Dimension

YEOSHE

V50, V70 Rear port (Please following order code no.6 add “B")
(Vs (110 EI O —O0O0OE00

INC.
306 57 Pressure adjustment
Inlet Qutlet DEC.
Threads code Threads code Flow adjustment . 73 o7 94_-%%2&(45
: -j2*  10:PT(RC) 1-1/4" ——\ [ Drainport: G 314" " il
18:?1(5?2)-1 142 40:@1-1:4" 33 [ § o 74 Filling port
50 : NPT 1-1/2" 50 : NPT 1-1/4" odlog |
(Te] Ty}
~ o)
\ / 5 8 o ;e
E h=1 o - _ co| &
P O |9 1 4@
! I ] . i3
U o™ F
- S| ' g
269 mik
357 Axial port 295 5 181
' Pipe code B : Axial port 300 261.5
357
Type A B C |CR|CG| D |DG| E |EG| F |[FG| G | GJ [GM| HL | HK |HQ
O Thrudriveopton |O (O[O |O|O (OO |O[|O[O|O|O[O|0O]|0O
V50, V70 Splined shaft type V50, V70 Inlet / outlet
55,5 Outlet Inlet
10
o 35,7 1 32 357 i 32 i
- | |
- D @ D @
0 o) @ o
= @ o
— oo w w
= g
s - :
| Toreateease e Toreadete
. 22.9 40} G 19} G
50 : NPT 1-1/4" 50 : NPT 1-1/2"
45,5

S: 14T DP12/24

dwnd uosid [eixy A ﬂ

Copyright@2015-YEOSHE-ALL RIGHT RESERVED



Pump combination

Pump 1 | V15 (V18) | V23 (v25) | V23 (v25) | V38 (v42) | V38 (v42) | V38 (v42) | V50 (V70) | V50 (V70) | V50 (v70)
Pump 2 | V15 (V18) | V15 (Vi8) | V23 (V25) | V15 (V18) | V23 (V25) | V38 (V42) | V15 (V18) | V23 (V25) | V38 (V42)

dwnd uojsid |eixy A u

A G3/8" | G3/8" | G3/8" | G3/8" | G3/8 | G1/2" | G3/8 | G3/8 | G1/2"
B G3/8" | G3/8" | G3/8" | G1/2" | G1/2" | G1/2" | G3/4" | G3/4" | G3/4"
C 5745 | 5745 | 61 | 5745 || 61 | 73 | 5745 | 61 | 73
D 35.1 | 351 | 524 | 35.1 | 524 | 587 | 351 | 524 | 587
E 3hl. | 3354 | @62 || 355 | 262 | 3@z | 354 | 26:2 | 30.2
F 351 | 524 | 524 | 587 | 587 | 587 | 699 | 699 | 689
G 35t | ez || e || Soez || s || sgep Nl 85:2 || B8 | BERY
H M8x20 | M8x20 | M10x16 | M8x20 | M10x16 | M10x16 | M8x20 | M10x16 | M10x16
1 M8x20 | M10x16 | M10x16 | M10x16 | M10x16 | M10x16 | M12x25 | M12x25 | M12x25
] 147 | 147 | 170 | 147 | 170 | 179 | 147 | 470 | 179
K 147 | 170 | 170 | 179 | 179 | 179 | 256.5 | 256.5 | 256.5
L 332 | 369 | 402 | 378 | 401 | 410 | 464 | 493 | 502
M 382 | 419 | 455 | 428 | 454 | 465 | 515 | 546 | 555
N 48 | 48 | 51 | 48 | | 51 Il 48 | 51 | 51
0 48 | 51 | 51 | 51 | 51 | 51 73 | 73 | 73
P | 6 | o | o [ 9 [ o [ o | 100 | 10 | 10
Q | 4.76x32 | 6.35x40 | 6.35x40 | 6.35x40 | 6.35x40 | 6.35x40 | 7.94x45 | 7.94x45 | 7.94x45
R 13 | 14 | 14 [ 145 | 145 | 145 | 24 | 24 | 24
S ©19.05 | @22.22 | @22.22 | @22.22 | ©22.22 | @22.22 | @31.75 | @31.75 | @31.75
T 21.15 | 25.08 | 25.08 | 25.08 | 25.08 | 25.08 | 3535 | 3535 | 3535
u @82.55 | ©101.6 | @101.6 | @101.6 | ©101.6 | @101.6 | @127 | @127 | @127
v @25 | @25 | @25 | 231 . @31 | @31 | @38 | 238 | @38
W @25 | @25 | @25 | @231 . @31 | @31 | @38 . 238 | 238
X 106 | 146 | 146 | 146 | 146 | 146 | 181 | 181 | 181
Y 131 | 146 | 146 | 160 . 160 | 160 | 208 | 208 | 208
Z 165 | 182 | 182 | 198.6 | 198.6 | 198.6 | 261.5 | 261.5 | 261.5
Al 44 | 39 | 39 | 39 | 39 | 39 | 74 | 74 | 74
A2 31.2 | 312 | 332 | 312 || 312 | 31.2 | 40 | 40 | 40
A3 5 | 5 5 5 5 | 5 | 8 | 8 | 8
A4 84 | 110 | 110 | 121 | 121 | A2 [ 118 | 119 | 119
A5 11 | 13.5 | 3.5 | 135 || 13.5 | 13:5 | 18 | 18 | 18
A6 445 | 585 | 585 | 585 | 585 | 585 | 57 | 57 | 57
A7 160 | 193 | 193 | 210 | 210 | 210 | 233.5 | 233.5 | 233.5
A8 91.5 | 93 | 93 | 3135 | 113.5 | 1135 | AIFE || AIFPE | AS3S5
A9 60 | 68 | 68 | 72 | 72 | 72 | 100 | 100 | 100
Pump 2 Pump 1 O
Drain port B i O AB INC.
N Al Pressure adjustment
DEC. < Filling port
Flow adjustn'lt-)nll - 0Q3% )
L o [. g w T
—)"“I"'_: e oo
Q $ & @ = / 9 = 3%
St 1 0—) |+ | D ElSEE Nk
\?E| 2 [ Leqw i 1o
E G =4 X
J K Outlet V I v 1 Inlet W
L z
M

WETE wwwyeoshehydraulic.com



Pump combination - coupling

YEOSHE

Piston Pump

==

oH
o

[+]
o

]
C)_
T

JLH?III

Gear Pump =
™ Coupling '—Adapter
shaft
Pump 1 Pump 2
No P & ®Coupling
Model Model FA Shaft
15-1 V1518 Piston pump: V15~18, AR16~22 | SAE @ 82.55 9T 16/32 DP COUP-V15+15
Gear pump: HGP-3A
2341 Piston pump: V15~18, AR16~22 SAE A @82.559T 9T 16/32 DP COUP-V23-1
23-3A Gear pump: HGP-3A Vane pump @95.02 13T 16/32 DP COUP-V23-3
23-5 — Vane: F30,F40,PV2R1 Cylindric @19.05*4.76 COUP-V23-5
556 ' Piston pump: V23~25 SAEB @101.6 Cylindric @22.22*6.35 BB
= Vane pump: T6C Metric @100 Cylindric @22.22*4.76 RS
23-3B 13T 16/32 DP COUP-V23-3
38-1 Vane pump: T6C SAE A @82.55 9T 16/32 DP COUP-V38-1
38-3A Gear pump: HGP-3A Vane pump @95.02 13T 16/32 DP COUP-v38-3
38-5 Piston pump: F30,F40,PV2R1 Cylindric @19.05%*4.76 COUP-V38-5
Piston pump: V23~25, V38~V42 SAE B @101.6 Cylindric ©@22.22*6.35
38-6 V38, V42 COUP-V38-6
? Vane pump: T6C Metric @100 Cylindric @22.22*4.76
38-7 Piston pump: PV016~023 Cylindric @25.4*6.35 COUP-V38-7
38-38 Vane pump: PV2R2 13T 16/32 DP COUP-V38-3
38-4 15T 16/32 DP COUP-V38-4
70-1 Piston pump: V15~18, AR16~22 SAE A ©82.55 9T 16/32 DP COUP-V70-1
70-3A Gear pump: HGP-3A Vane pump @95.02 13T 16/32 DP COUP-V70-3
70-5 Vane pump: F30,F40,PV2R1 Cylindric #19.05*4.76 | COUP-V70-5
Piston pump: V23~25, V38~V42 Cylindric @22.22%6.35
706 V50, V70 ik SREBFNOTE . COUP-V70-6
: Vane pump: T6C Metric @100 Cylindric @22.22*4.76
70-7 Piston pump: PV016~023 Cylindric @25.4*6.35 COUP-V70-7
70-3B Vane pump: PV2R2 13T 16/32 DP COUP-VT70-3
70-4 15T 16/32 DP COUP-V70-4
@A @) Adapter @ O-ring
SAE A @82.55 23A-83-D G80
Vane pump @95.02 23A-83-G G95
SAE B @101.6 23A-83-E G100
Metric @100 23A-83-J G100

dwnd uoysid [eixy A ﬂ

Copyright@2015-YEOSHE-ALL RIGHT RESERVED



dwnd uojsid |eixy A u

www yeoshehydraulic.com

Pump combination - coupling parts

Depending 2nd pump to usez sna&‘rtigg or not )
: . e : With snap ring
©Coupling @Snap ring Piston pump: | Gear pump: HGP- |Vane pump: F30, C oot
V15~18, AR16 3A F40
COUP-V15+15 R13 ° ° ® --
COUP-V23-1 R13 ® ° =
COUP-V23-3 R20 ° =
COUP-V23-5 R20 ° M5 x8
COUP-V23-6 -- M5 x8
COUP-V38-1 R13 ° -
COUP-V38-3 R20 -
COUP-V38-4 -- -
COUP-V38-5 R20 ° M5 x8
COUP-V38-6 -- M5 x8
COUP-V38-7 - M5 x8
COUP-V70-1 R13 ° -
COUP-V70-3 R20 --
COUP-V70-4 -- --
COUP-V70-5 R20 0 M5 x8
COUP-V70-6 -- M5 x8
COUP-V70-7 - M5 x8
@ O-ring G55
@Pin @8x16 x2 nos
®Screw M8x30 x4 nos




EOSHE

Pump combination - thru drive dimesion

dwnd uosid [eixy A ﬂ

V15,V18
L
R
B
H L i
K
V23~V70
L
L2 M
F%ﬂ —J
/
Pump 1 (== L] |__— Adapter
| 7R .
 p— _ 1 <
s
N
R 4
H L LB D
K F
Model 2nd Pump DA B @C D E F G
V15,V18 SAE A ©82.55 8.35 -- -- -- 106.3 M10xP1.5
SAE A ©82.55 8.35 @127 89.8 M10xP1.5 | 106.3 | M10xP1.5
\23~V70 SAE A ?»101.6 10 @127 89.8 M10xP1.5 | 146 M12xP1.75
Metric @100 10 ?125 88.39 | M10xP1.5 | 140 M12xP1.75
Vane Pump| #95.02 8.35 -~ 90 M10xP1.5 - --
Model K H J M L L2
V15,V18 33 13.5 |9T 16/32 DP| -- 185 -
V23.N256 59 13.5 |[9T 16/32 DP| 32 237 205
V38,v42 66 20 14T M1.25 | 32 241 209
V50,V70 64.4 22 13T 16/32DP| 32 332 300

YEOSHE product specifications are subject to change with prior notic.

Copyright@2015-YEOSHE-ALL RIGHT RESERVED



F

Pump combination - thru drive dimension

=c

View A

DEC

Pump 1 V15, Pump 2 V15

dwnd uojsid |eixy A u

View B

()

Pump 2 Pump 1
. N 0 AB Q-U.UZ
Flow adjustment Drain port A Drain port B d.r -0.05
: I cg cg
I ; o
o _ o o = .
<> R/ [ ;C}A:@% — f‘?z
7 ET_'— T
i | G ‘]— ”
: T« =
LA
L
M
Punp1 V23~V70, Pump 2 V15~V38
Pump 2 Pump 1
Drain port B o AB

DEC.

Flow adjustment

=]

1

(o]

Drain port A N
i g

—

|

@
I
N

ol

o [ -

e

v

m

|
J

A3

A2

Al

()

DEC.
Pressure adjustment

Filling port

A7
A4

31

VZ2yan|

+0.3

A5 +0
A9

2

\ Inlet W

AT

www .yeoshehydraulic.com

()

DEC.
Pressure adjustment

Filling port

Outlet V /

\lnlet w




Pump combination - thru drive dimension

YEOSHE

Pump1 | Pump2 A | B | c |o|E|F |6 | H | | A
VA5V18 | VI5V18 | G3/8"(RC3/6") | G3/e"(RC/E") | 57.45 351 | 351 | 351 | 351 | MBXP1.25x20 | M6xP1.25x20

V23V25 | VI5V18 | G 3/8" (RC 3/8") G3B'(RC3E) | 5745 351 351 524 | 262 | MBxP125x20 M10xP1.516

V23V25 | V2325 | G3/8"(RC3/8") | G3/8"(RC3/8") | 61 | 524 262 524 | 262 | MIOxP1.5x16 | M10xP1.5x16

V3BV42 | VISVI8 | G3/8"(RCIB") | G1/2(RC1/2') | 57.45 | 35.1 | 351 | 587 | 302 | M8xP1.25x20 | M10xP1.5x16 <
' vaa,v42:.:::v23.v25_ G 3/8" (RC 3/8") G 1/2" (RC 1/2") 61 | 52.4_: 262 | 587 30.2 M10xP1.5x16 _ M10xP1.5x16 %
V38V42 | V3BV42 | G12'(RC12Y) | GU2'(RC12Y) | 73 | 587 | 302 | 58.7 | 30.2 | MIOXPL5x16 | MIOXPLSx16 Q)
VS0V70 | V518 | G3/8" (RC3/8") | G3/4" (RC3/4") | 5745 | 351 | 351  69.9 | 357 | M8xP1.25x20 | M12xP1.75x25 g
VS0V70 | V23V25 | G3/8'(RCIB') | GI4'(RCIA') | 61 | 524 | 262 | 699 | 357 | M1OXP15x16 | M12xP1.75x25 ﬁ
V50V70 | V3842 | G1/2"(RC1/2") | G3/4"(RC3/4") | 73 | 58.7 | 30.2 | 69.9 | 357 | M10XP1.5x16 | M12xP1.75x25 8

: ; ©

Pump1 | Pump2 J ‘ K ‘ L | LA ILB ‘ M N |O|P Q R S T U
VisV18 VI5\18 | 147 | 147 | 332 | 185 ” 382 | 48 :'43 6 4.?6x32_:“ 13 | 1905 | 21.15 (82.55 _g
V23V25 | VA5\V18 | 147 | 170 | 384 | 237 | 32 | 411 |48 | 51 O | 6.35x40 | 14 | ¢2222 | 2508 | (1016

V23V25 | V23V25 | 170 | 170 | 407 | 237 | 32 | 455 |51 | 51 | O | 6.35x40 | 14 | ¢22.22 | 2508 | $1016

V38V42 | VI5V18 | 147 | 179 | 388 | 241 | 32 | 438 | 48 | 51 | O | 6.35x40 | 145 | $2222 | 2508 21016

V38V42 | V23V25 | 170 | 179 | 411 241 | 32 | 464 |51 | 51 | O | 6.35x40 | 145 | 2222 | 2508 | 21016

V38\V42 | V3BV42 | 179 | 179 | 420 | 241 | 32 | 473 | 51 | 51 | 9 | 6.35x40 | 145 | $22.22 | 2508 | #1016

VSOV70 | VA5V18 | 147 | 2565 | 479 | 332 | 32 | 520 | 48 | 73 | 10 | 7.94x45 | 24 | @3175 | 3535 | @127

VS0,V70 | V23V25 | 170 | 2565 | 502 | 332 | 32 | 555 | 51 | 73 | 10 | 7.94x45 | 24 | #31.75 | 3535 | @127

VB0V70 | V3BV42 | 179 | 2565 | 511 | 332 32 | 564 | 5173 10 | 7.94xd5 | 24 | @3175 | 3535 | 127

Pump1 | Pump2 | V | W | X | Y |z | A1 A2 A3 | A4 | A5 | A6 | A7 | A8 | A9

VI5V18 | VISV18 | @25 | @25 | 106 | 131 | 165 | 44 | 312 5 | 84 | 11 | 445 160 | 915 | 60

V23V25 | VI5V18 | @25 | 25 | 146 | 146 182 | 39 | 312 5 | 110 | 135 | 585 | 193 = 93 | 68

V23V25 | V23V25 | 25 | @25 | 146 | 146 | 182 | 39 | 312 | 5 | 110 | 135 | 585 | 193 | 93 | 68

V3BV42 | VISV18 | @31 | 231 | 146 | 160 | 1986 | 39 | 312 | 5 | 121 | 135 | 585 | 210 | 1135 | 72

V3B \V42 | V23V25 | #31 | ¢31 | 146 | 160 | 1986 | 30 | 31.2 | 5 | 121 | 135 | 585 | 210 | 1135 | 72

V3B V42 | V3BV42 | 931 | #31 | 146 | 160 | 1986 39 | 312 | 5 | 121 | 135 | 585 | 210 | 1135 | 72

VSON70 | VISVA8 | #38 | #38 | 181 | 208 | 2615 | 74 | 40 | 8 | 119 18 | 57 | 2335 1335 100

VSON70 | V23V25 | @38 | #38 | 181 | 208 | 2615 | 74 | 40 | 8 | 119 18 | 57 | 2335 | 1335 | 100

VSOV70 | V38V42 | $38 | #38 | 181|208 | 2615 74 | 40 | 8 | 119 | 18 | 57 | 2335 | 1335 100

Copyright@2015-YEOSHE-ALL RIGHT RESERVED



	0001
	0002
	0003
	0004
	0005
	0006
	0007
	0008
	0009
	0010
	0011
	0012
	0013
	0014
	0015
	0016
	0017
	0018
	0019
	0020
	0021
	0022
	0023
	0024
	0025
	0026
	0027
	0028
	0029
	0030
	0031
	0032
	0033
	0034
	0035
	0036
	0037
	0038
	0039
	0040
	0041
	0042
	0043
	0044
	0045

